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4o 1.

require(processR)
require(lavaan)

labels=1list(X="frame" ,M="justify",Y="donate" ,W="skeptic")
moderator=list(name="skeptic",site=list(c("a","c")))
pmacroModel (8, labels=1labels,ylim=c(0.3,1))

skeptic

justify

frame

donate
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frame
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A 2. o) BAA 23S qelvope

statisticalDiagram(8,labels=1labels,radx=0.12,rady=0.06)
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g 3.

eq=tripleEquation(labels=1abels,moderator=moderator, mode=1)
cat(eq)

justify~frame+skeptic+frame:skeptic
donate~framet+skeptic+frame:skeptic+justify

fitl=lm(justify~frametskeptic+frame:skeptic,data=disaster)
fit2=lm(donate~frame+skeptic+frame:skeptic+justify,data=disaster)
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Consequent
justify(M) donate(Y)
Antecedent Coef SE t p Coef SE t p
frame(X) 4y -0.562 0.218  -2.581 011 c'y 0.160 0.268 0.599 .550
skeptic(W) ap 0.105 0.038 2.756 .006 ¢y -0.043 0.047  -0.907 .365
frame:skeptic(X:W) 23 0.201 0.055 3.640 <.001 c'3 0.015 0.069 0.217 .829
justify(M) b -0.923 0.084 -10.981 <.001
Constant iy 2.452 0.149 16.449 <.001 iy 7.291 0.274 26.642 <.001
Observations 21 21
R2 0.246 0.454
Adjusted R2 0.235 0.443
Residual SE 0.813 ( df = 207) 0.983 ( df = 206)
F statistic F(3,207) = 22.543, p < .001 F(4,206) = 42.816, p < .001
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eq=tripleEquation(labels=1abels,moderator=moderator, mode=1)
fit=eq2fit(eq,data=disaster)
modelsSummaryTable(fit,labels=1labels)

Consequent
justify(M) donate(Y)
Antecedent Coef SE t P Coef SE t P
frame(X) 24 -0.562 0.218 -2.581 .011 'y 0.160 0.268 0.599 .550
skeptic(W) @y 0.105 0.038 2.756 .006 ¢’y -0.043 0.047  -0.907 .365
frame:skeptic(X:W) a3 0.201 0.055 3.640 <.001 c' 0.015 0.069 0.217 .829
justify(M) b -0.923 0.084 -10.981 <.001

Constant iy 2.452 0.149 16.449 <.001 fy 7.291 0.274 26.642 <.001

Observations 21 211
R2 0.246 0.454
Adjusted R2 0.235 0.443
Residual SE 0.813 ( df = 207) 0.983 ( df = 206)
F statistic F(3,207) = 22.543, p < .001 F(4,206) = 42.816, p < .001
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A 5. 919 29 = lavaandl 7| A = £4 % 5 = &3 22 lavaan syntax=
TtEo] Holgh & 2E F 95 FA 5] 98 249 16,50, 84 A W F-9| 5
A&kt

justify~alxframe+a2*xskeptic+a3*xframe:skeptic
donate~clxframe+c2xskeptic+c3xframe:skeptic+tbxjustify
skeptic ~ skeptic.meanxl

skeptic ~~ skeptic.var*skeptic

CE.XonM :=al+a3%x2.8

indirect :=(al+a3*x2.8)x*(b)

index.mod.med :=a3x*b

direct :=cl+c3%2.8

total := direct + indirect

prop.mediated := indirect / total

CE.XonM.below :=al+a3%*1.592

indirect.below :=(al+a3*x1.592)*(b)

CE.XonM.above :=al+a3x5.2

indirect.above :=(al+a3*x5.2)x*(b)
direct.below:=cl+c3x1.592

direct.above:=cl+c3%*5.2

total.below := direct.below + indirect.below
total.above := direct.above + indirect.above
prop.mediated.below := indirect.below / total.below
prop.mediated.above := indirect.above / total.above

11 /37



A 5. 919 29 < lavaandl 7| A = £4 8 = &3 22 lavaan syntax=
wrEo] Holeh @ 2H g HE FA 7] flal =4

AHg-FE,

model=tripleEquation(labels=1labels,moderator=moderator,rangemode=2,
data=disaster)
cat(model)

justify~alxframe+a2*skeptic+a3d*frame:skeptic
donate~clxframe+c2xskeptic+c3xframe:skeptict+tb*xjustify
skeptic ~ skeptic.meanx1l

skeptic ~~ skeptic.varxskeptic

CE.XonM :=al+a3%2.8

indirect :=(al+a3*2.8)x(b)

index.mod.med :=a3xb

direct :=cl+c3%2.8

total := direct + indirect

prop.mediated := indirect / total

CE.XonM.below :=al+a3%*1.592

indirect.below :=(al+a3x1.592)x(b)

CE.XonM.above :=al+a3%5.2

indirect.above :=(al+a3x5.2)x(b)
direct.below:=cl+c3%1.592

direct.above:=cl+c3%x5.2

total.below := direct.below + indirect.below
total.above := direct.above + indirect.above
prop.mediated.below := indirect.below / total.below

= 4;
A¥ 9] 16, 50, 84H A WL +E
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A 6. A4 594 THE lavaan syntaxE ©]-&3le] sem(O&FE o] &5t P S B
A5t £A 235 semfitel] #148H= R L=2 24 atet. 1, 95% 21 2] 73HE A7)
91 3t bootstraping-> 2008] £ A A] 3ttt
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et 6. &4 504 THE lavaan syntaxZ o] £3lo] sem() S o] &3l RIS &
A&t B A IS semfitol] A A5E R 225 245k |, 95% A1 2 31 A7)
ﬂ% gt bootstraping-= 2003] & 4 A] gttt

semfit=sem(model,data=disaster,se="boot",bootstrap=200)
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Correlation Coeffients by Pearson's product-moment correlation
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corPlot(semfit)
Correlation Coeffients by Pearson's product-moment correlation
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1.0
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24 8. 919] BA Ao M 57N AT BES o E2 pEhyol g}
Variables  Predictors label B SE z p B
justify frame al -0.56 0.23 -2.41 0.016 -0.32
justify skeptic a2 0.11 0.04 2.41 0.016 0.24
justify frame:skeptic a3 0.20 0.06 3.32 0.001 0.50
donate frame c1 0.16 0.24 0.66 0.508 0.06
donate skeptic c2 -0.04 0.06 -0.75 0.455 -0.07
donate frame:skeptic c3 0.01 0.07 0.21 0.835 0.03
donate justify b -0.92 0.08 -11.18 <0.001 -0.64
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8. 9o BA Aol 3| A LA A} RES 2261 T2 ey ol g,
estimatesTable2 (semfit)
Variables  Predictors label B SE z p B

justify frame al -0.56 0.23 -2.41 0.016 -0.32

justify skeptic a2 0.1 0.04 2.41 0.016 0.24

justify frame:skeptic a3 0.20 0.06 3.32 0.001 0.50

donate frame ci 0.16 0.24 0.66 0.508 0.06

donate skeptic c2 -0.04 0.06 -0.75 0.455 -0.07

donate frame:skeptic c3 0.01 0.07 0.21 0.835 0.03

donate justify b -0.92 0.08 -11.18 <0.001 -0.64
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A 9. A ] A A Il A

2A% 57 HEL FEeo X2 ehfolat.

Effect Equation estimate  95% Bootstrap Cl p
CE.XonM a1+a3*2.8 0.001 (-0.243t0 0.211)  .994
indirect (a1+a3*2.8)*(b) -0.001 (-0.19110 0.233) .994
index.mod.med a3*b -0.186 (-0.369 t0 -0.082)  .003
direct c1+c3*2.8 0.202 (-0.047 t0 0.524)  .139
total direct+indirect 0.201 (-0.179t0 0.529)  .259
prop.mediated indirect/total -0.004 (-11.943 to 1.946)  .999
CE.XonM.below a1+a3*1.592 -0.242 (-0.640 t0 0.028)  .121
indirect.below (a1+a3*1.592)*(b) 0.223 (-0.026 to 0.592)  .142
CE.XonM.above a1+a3*5.2 0.484 (0.196 to 0.844)  .002
indirect.above (a1+a3*5.2)*(b) -0.446 (-0.831t0-0.169) .004
direct.below c1+c3*1.5692 0.184 (-0.084 t0 0.563)  .255
direct.above c1+c3*5.2 0.238 (-0.210t0 0.696)  .279
total.below direct.below+indirect.below 0.408 (-0.034t0 0.812)  .062
total.above  direct.above+indirect.above -0.208 (-0.642 t0 0.262)  .399
prop.mediated.below indirect.below/total.below 0.548 (0.035t04.574)  .526
prop.mediated.above indirect.above/total.above 2142  (-0.914 t0 232.278)  .909

boot.ci.type = bca.simple
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5 9. 92) Ba] A o] A

medSummaryTable(semfit)

2A% 57 HEL FEeo X2 ehfolat.

Effect Equation estimate  95% Bootstrap CI p
CE.XonM a1+a3*2.8 0.001 (-0.243t0 0.211)  .994
indirect (a1+a3*2.8)*(b) -0.001 (-0.19110 0.233) .994
index.mod.med a3*b -0.186 (-0.369t0 -0.082)  .003
direct c1+c3*2.8 0.202 (-0.047 t0 0.524) 139
total direct+indirect 0.201 (-0.179t0 0.529)  .259
prop.mediated indirect/total -0.004 (-11.943 to 1.946)  .999
CE.XonM.below a1+a3*1.592 -0.242 (-0.640t0 0.028)  .121
indirect.below (a1+a3*1.592)*(b) 0.223 (-0.026 t0 0.592)  .142
CE.XonM.above al+a3*5.2 0.484 (0.196 t0 0.844)  .002
indirect.above (a1+a3*5.2)*(b) -0.446 (-0.831t0-0.169)  .004
direct.below c1+c3*1.5692 0.184 (-0.084 t0 0.563)  .255
direct.above c1+c3*5.2 0.238 (-0.210t0 0.696)  .279
total.below direct.below+indirect.below 0.408 (-0.034t0 0.812)  .062
total.above  direct.above+indirect.above -0.208 (-0.642 t0 0.262)  .399
prop.mediated.below indirect.below/total.below 0.548 (0.035t04.574)  .526
prop.mediated.above indirect.above/total.above 2142  (-0.914 t0 232.278)  .909

boot.ci.type = bca.simple
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Indirect Effect

Direct Effect

(a1+a3*W)*(b) c1+c3*W
skeptic(W) estimate 95% Bootstrap CI P estimate 95% Bootstrap ClI p
1.592 0.223 (-0.026 to 0.592) 142 0.184 (-0.084 to 0.563) .255
2.800 -0.001 (-0.191 to 0.233) .994 0.202 (-0.047 to 0.524) 139
5.200 -0.446  (-0.831t0-0.169) .004 0.238 (-0.210 to 0.696) 279

boot.ci.type = bca.simple
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modmedSummaryTable(semfit)
Indirect Effect Direct Effect
(a1+a3*W)*(b) c1+c3*W
skeptic(W) estimate 95% Bootstrap ClI p estimate 95% Bootstrap ClI p
1.592 0.223 (-0.026 to 0.592) 142 0.184 (-0.084 to 0.563) .255
2.800 -0.001 (-0.191 to 0.233) .994 0.202 (-0.047 to 0.524) 139
5.200 -0.446 (-0.831 to -0.169) .004 0.238 (-0.210 to 0.696) 279

boot.ci.type = bca.simple
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conditionalEffectPlot(semfit,data=disaster)
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statisticalDiagram(8,labels=1labels,fit=semfit,whatLabel="est",

radx=0.12,rady=0.06)
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fit=Ilm(donate~framexskeptic,data=disaster)
condPlot(fit,rangemode=2,xpos=c(0.7,0.2),

labels=c("Climate change(X=1)","Natural causes(X=0)"))
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fit=Ilm(justify~framexskeptic,data=disaster)
condPlot(fit,rangemode=2,xpos=0.7,
labels=c("Climate change(X=1)","Natural causes(X=0)"))
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fit=Ilm(justify~framexskeptic,data=disaster)
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fitl=lm(justify~framexI(skeptic-5.2),data=disaster)
summary (fitl)

Call:
Im(formula = justify ~ frame * I(skeptic - 5.2), data = disaster)
Residuals:

Min 1Q Median 3Q Max

-2.1267 -0.5864 -0.0117 0.5084 2.5484

Coefficients:
Estimate Std. Error t value Pr(>|t])

(Intercept) 2.99796 0.10510 28.526 < 2e-16 **xx%
frame 0.48368 0.15052 3.213 0.001521 *x%
I(skeptic - 5.2) 0.10508 0.03813 2.756 0.006375 *xx%x
frame:I(skeptic - 5.2) 0.20118 0.05527 3.640 0.000344 **x
Signif. codes: 0 ' xx' 0.001 'xx' 0.01 'x' 0.05 '.' 0.1 ' ' 1

Residual standard error: 0.8129 on 207 degrees of freedom
Multiple R-squared: 0.2463, Adjusted R-squared: 0.2353
F-statistic: 22.54 on 3 and 207 DF, p-value: 1.138e-12

32 /37



A 16. ©] 23 o] 4 Johnson-Neyman(JN) ®5 | 2|3l N interval< +35}2}.
JOHNSON-NEYMAN INTERVAL

When skeptic is OUTSIDE the 1interval [1.171, 3.934], the slope of
frame is p < .05.

Note: The range of observed values of skeptic is [1.000, 9.000]
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& 16. o] 23 o] 4 Johnson-Neyman(JN) 5 ol 2|3l N interval< +35}2}.
jnPlot(fit,plot=FALSE)

JOHNSON-NEYMAN INTERVAL

When skeptic is OUTSIDE the 1interval [1.171, 3.934], the slope of
frame is p < .05.

Note: The range of observed values of skeptic is [1.000, 9.000]
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res=jnPlot(fit,plot=FALSE)

resSplot
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